
STEP 10.

STEP 2. x1

x1

x2

x1

x1

x1

x1

x2 x1

x8 x2

x8 x8

x1 x1

x4 x8

x16 x2

x8

x11 x8

x1

Tool

STEP 1. x4
x4

x4x2

x8

STEP 3.

STEP 5. STEP 6. STEP 7.

STEP 4.

!

x2

x2

STEP 13. STEP 12.

x2

x2

x2

x4

x8

x4

x4

x4

x4

x4

x4

STEP 8.

M6x60mm 

Option 1. Option 2. Option 3. Option 4. Option 5.

PART LIST

LOCKING CABLE
# 47-0100-021-10

ACCESSORIES (NOT INCLUDED)

Wheel base

26"
Tire diameter

MAX
123cm(48.5")

29"
Tire diameter

MAX
126cm(49.5")

Max 3.25”

Contact us at service@buzzrack.com if you have any questions.
www.buzzrack.com

velcro strap

x2

M6x40mm 

x2 x2 x5

x1

x2 x2 x1

M6x50mm 

Ø6.5xØ13M6x20mm M6

M6x1.0

M6x40

STEP 11.

M6x60

x2 x2

x2

x2

M6x25 M6

M6x1.0Ø6.5xØ13

x4

!

!

!
x1 x1 x1

M6x50

STEP 9.

x4

* This tool is not included.

OPTIONS

1 NoMax 20 kg

No

Max 20 kg

No

2 Max 20kg + Max 20kg

3 & 4 Max 20kg + Max 20kg

5 4 bikes = Max 60kg

60 kg

70 kg

80 kg

> 85 kg

36 kg

+

46 kg

56 kg

MAX 60 kg

MAX

24 kg

SKG

4 2 +X X

MAX 60kg / 132lbs60L
Made in Taiwan 94-2603-044-10-V1/20231004

TWINBUZZ

2X
+

4X

MAX 60kg

MAX 60kg

MAX
60KG

>65mm 
ISO

50mm 20
KG



XX-XXX-XX

!

! !

CHECK!

! !

! !

1

5 6

2 3 4

360˚ Max 
Ø3”

x2

x2x2

5Nm

4 ¾”(12cm)

MAX 37.5Kg
(82.5Lbs)

x2

!

!

!

!

3

1

2

4

5

6

Option 1.

Option 4.

Option 5.

Option 3.

Option 2.

2

!

x4

1

2

1

2 

3 

4

x2

x2

3

x2


